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(C) to income {Y) is C= $7,500-,. .2Y, then
(a) consumption is inversely related to income
(b) consumption is the Independent variable and in·
come is the dependent variable
(c) if income is $15,000, then consumption is $10,500
(d) rr consumption is $30.000, then income is $10,000

20. If the dependent variable changes by 22 units when
the independent variable changes by 12 units, then the
slope of the line is

(a) 0.56
(b) 1Jl3
(c) 2.00
(d) 3.27

• PROBLEMS 

1. Following are three tables for making graphs. On the
graphs, plot the economic re!atlonships contained in each
table. Be sure to label each axis of the graph and Indicate
the unit measurement and scale used on each axis.

0 

a. Use the table at the top of the neJ<t page to graph
national income on the horizontal axis and consump,­
tion expenditures on the vertical axis below; connect
the seven points and label the curve "Consumption."
The relationship between income and consumption

is (a direct, an Inverse) ______ one and 
the -consumption curve is (an up-, a down-,) 

_____ sloping curve, 
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3. The following three sets of data each show the rela­
tionship between an independent variable and a depen­
dent variable. For each set, the independent variable is in
the left column and the dependent variable is in the right
column.

A 

00 

10 

20 

30 

40 

0 

/1) (2) (3) 

B C 0 E F 

10 0 100 0 20 
30 10 75 50 40 

50 20 50 100 60 

70 30 25 150 80 

90 40 0 200 100 

a. Write an equation that summarizes the data for sets
(1 ), (2), and (3).
b. State whether each data set shows a positive or an
inverse relationship between the two variables.
c. Plot data sets 1 and 2 on the following graph. Use
the same horizontal scale for both sets of independent
variables and the same vertical scale for both sets of
dependent variables.

4. This problem is based on the following graph.
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a. The slope of the straight line through point a is?
b. The slope of the straight line through point b is?
c. The slope of the straight line through point c is?

• SHORT ANSWER AND ESSAY QUESTIONS

1. Why do economists use graphs in their work?

2. Give two examples of a graph that illustrates the re­
lationship between two economic variables.

3. What does the slope tell you about a straight line?
How would you interpret a slope of 4? A slope of -2? A
slope of .5? A slope of - .25?

4. If the vertical intercept increases in value but the slope
of a straight line stays the same, what happens to the
graph of the line? If the vertical intercept decreases in
value, what will happen to the line?

5. How do you interpret a vertical line on a two-variable
graph? How do you interpret a horizontal line?

6. When you know that the price and quantity of a prod­
uct are inversely related, what does this tell you about the
slope of a line? What do you know about the slope when
the two variables are positively related?

7. Which variable is the dependent and which is the in­
dependent in the following economic statement: "A de­
crease in business taxes had a positive effect on invest­
ment spending."

8. How do you tell the difference between a dependent
and independent variable when examining economic re­
lationships?

9. Why is an assumption made that all other variables
are held constant when we construct a two-variable graph
of the price and quantity of a product?

10. How do mathematicians and economists differ at
times in how they construct two-dimensional graphs? Give
an example.

11. How is the slope of a straight line in a two-variable
graph affected by the choice of the units for either vari­
able? Explain and give an example.

12. What is the relationship between the slopes of lines
and marginal analysis?

13. Describe a case in which a straight line in a two-vari­
able graph would have an infinite slope and a case in 
which the slope of a line would be zero. 

14. If you know that the equation relating consumption
(C) to income (Y) is C-10,000+SY, then what
would consumption be when income is $5000? Construct
an income-consumption table for five dif ferent levels of
income.

15. How do the slopes of a straight line and a nonlinear
curve differ? How do you estimate the slope of a nonlin­
ear curve?
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